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TABLE1 CUMULATIVE PROBABILITIES FOR THE STANDARD NORMAL
DISTRIBUTION

Entries in the tabie

give the area under the
curve 10 the left of the

¢ value. For exaruple, for
7 = -85, the cumulative
probability i3 .1977.

Cumulative
probability

by
=}

H0 01 L2 03 04 Qs 06 07 08 49

&

-~30 0013 .0013 0013 0012 0012 0011 L0141 0011 0010 0010

~29 .001% 0018 0018 0017 0016 0016 0013 L0135 0014 004
~28  .0026 D25 0024 0023 0023 0022 0021 0021 0020 0019
-27  .0035 0034 L0033 0032 0031 0030 Lo29 0028 0027 026
~26 0047 0045 0044 0043 0041 0040 0039 0038 0037 0036
-2.5 H062 0060 0059 0057 0055 0054 0052 L0051 004 0048

~24 0082 0080  .0078 0075 0073 0071 D069 0068 D066 0064
-23 0107 D104 L1402 0099 0056 0054 0091 0089 0087 0084
~22 0138 0136 0132 0129 0125 0122 0119 6 o113 L0110
-2.1 0179 014 0170 0166 0162 0158 0154 0150 L1446 0)43
-20 0228 0222 0217 0212 0207 0202 0197 0192 0188 0183

-19  .0287  .0281 0274 0268 0262 0256 0250 0244 0239 0233
~1.8  .0350  .0351 0344 0336 0329 0322 0314 0307 0301 £294
-L7 0446 0436 0427 0418 0408 0401 0392 0384 0375 0367
-1.6 0348 0537 03526 0516 0505 0495 04385 0475 0465 0455
-L5 (0668  .0655 0643 0630 0618 0606 0594 0582 0571 0559

~-1.4 0808 0793 0778 0764 0749 0735 0721 0708 L0694 0681
-1.3 0968 0951 0934 0918 0901 0885 0869 0853 0838 0823
-1.2 1151 JA131 An2 1093 1075 1056 .1038 1020 1003 L0835
-1.1 1357 1335 1314 1292 1271 1251 1230 1210 1190 1170
-0 1587 1562 1539 1515 1492 1469 1446 .1423 RE 1379

-2 1841 1814 1788 A762 0 4736 A7 1685 1660 1635 161
-3 2119 209 2061 2033 2005 1977 .1949 1922 1894 L3867
-7 2420 2389 .2358 2327 2296 2266 2238 2206 2m 2148
-6 2143 2509 2676 2643 2611 2578 2545 2514 2483 2451
—.5 3085  .3050 3015 2981 2546 2012 2877 2843 2810 2716

-4 3446 3409 3372 3336 3300 3264 3228 3192 3156 32
-.3 382 3783 3745 3707 3669 .3632 .3594 3557 3520 3483
-2 4207 4168 4129 A0%0 4052 A013 3974 3936 3897 3859
~-.1 4602 4562 4522 4483 4443 4404 4364 4325 A286 A247
-0 5000 4960 4920 ABBO 4840 A301 4761 4121 AB81 4641
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TABLE 1 CUMULATIVE PROBABILITIES FOR THE STANDARD NORMAL
DISTRIBUTION (Continued)

Curzulative L
probability Entries in the table

. give the area under the
carve to the left of the

2z value. For example, for
z = }.25, the cumnulative
probability is 8944,

0 5000 5040 5080 .5120 L5160 5199 5239 5279 5319 5339
J 5398 5438 5478 5517 5557 5596 5636 5675 5714 5753
2 5793 5832 5871 5010 5948 5987 6026 6064 6103 6141
3 6179 6217 6255 6293 6331 6368 6406 6443 6480 6517
4 6554 6591 6628 6664 6700 6736 6772 .680B 6844 6879
S 6915 6950 6985 7019 7054 (7088 7123 (7157 7190 724
6 7257 7291 7324 (7357 7389 7422 7454 7486 7517 7549
77580 761y 7642 7673 7704 7734 7764 7794 7823 7852
8 7881 7910 7939 7967 7995 8023 8051 8078 8106 8133
9 8159 8186  .8212  .8238 .8264 8289 8315 .8340 8365  .§389
1.0 .8413 8438 8461 8485 8508 8531 8554 8577 8599 3621
1.1 8643 8665 .8686¢ .8708 8729 8749 8770 8790 8310  .8830
1.2 .8849 8869 8888 .8907 .8925 .8944  B962 B98O  .B9S7 9015
13 9032 9049 9066 9082 .9089 S115 9131 9147 9162 9177
1.4 9192 9207 .9222 9236 9251 9265 9279 9202 9306 9319
15 9332 9345 9357 .9370 9382 .93%4 9406 9418 0420 944
16 9452 5463 9474 9484 9495 9505 9515 9525 9535 9545
17 9354 9564 9573 9582 9591 9599 9608 9616 9625 9633
1.8 9641 9649 9856 9664 9671 9678 9686 9603 0600 9706
1.9 9713 9719 9726 9732 9738 9744 9750 9756 9761 9767
20 9772 9778 9783 9788 9793 9798 9803 9808 9812 9817
21 9821 9826 9830 9834 0838 9842 0846 9850 0854 9857
22 9861 9864 9868 9871 9875 9878 9381 9884 9887 9890
23 9893 9896 9898 9901 9904 9906 9909 9911 9913 9913
24 9918 9920 9922 9925 9927 9929 9931 9932 0934 9936
25 9938 9940 9941 9943 9945 9946 9948 9949 9951 9952
26 9953 9955 9956 9957 9959 9960 9961 9962 .9963 9964
27 9965 9966 9967 9968 9969 9970 9971 9972 9973 9974

2.8 Wra 9y 9976 9977 9977 9978 9979 9979 9980 9981
29 9981 9982 9982 9983 9984 9984 9983 9985 9986 9986

3.0 9986 .9987 9987 9988 (9988 9989  .0989 9989 9990 9990
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3 2
10%) m(u}

x>-1 x“+x
2. (10%) f(x)=(Qx*+5x+1)’, find jTl:; f(x)
3. (10%) j (24x* —8x +)dx
4. (10%) ju?+2x—$%x+ndx

_[21: dx

5. (10%)

6. (10%) Find the area under the curve between the given x-values:

2
o) =—Et®®  somr=ltox=3 -

Vs +9x* +17

7. (10%) Find the 2"-order partial derivatives /., f,,, f,.. f, ofthe

function f(x,y)=ylnx+xe’.

8. (10%) Given (x,,3)=(-110), (x,,5,)=(0.8), (x5,33)=(L5),
(x,,¥,)=03,0),and (x,ys)=(5,-2), please find the best fitting line by using
the least square method.

* |y _n3y - (SA(EY)
o | T e - (3

For data . . calculate

b=1(Sy-a3)

Xy Yn

The least squares lineis then y =ax + b

9. (10%) Find the equation for the tangent line to the curve ) = x* Inx—x*
at x=e.

1

1 1
10. 1im
1}% {w/nz * Jn(n+1) e \/n(2n—1)}

=7
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(1) A KEREL B REHN A B2 S HHRER?
(2) A KERHE B RESRARERHE?

2. (30pts) ME=FHEBIEECVIIHPEBRTHEE - €M 5 LERSRVHEE Pk
I REVIHER - € KIETHEEITRVHES - (¢ F BB RVHEE  IT%:

M K F
14 20 26
19 24 25
18 28
25
S 165 2175  26.33

(1) AR IR BB GTR AR g TR R 2
(2) BILERIES{E ANOVA - FEREET & ERS?

(3) FEREE/K#E 0.05 TiRERRERITHIIHER?
(4) KJERD F JEAGER?

(5) 7£ ANOVA =t » BRI RERE?

3.(30pts) AEHFRKE Y RALUTRBIY) =3y, 0<y <1 EXEALEHE6 TEA
M EERIRLL 10 TTEY » SEERETHE 100k # - ERLGETAREEERE » Rt R sE/EH
AR

(1) fy) R & Rt R B

(2) BEARTEAZ AR Rofar?

4. (20 pts) FATEIRT RBEH 97%HVIBIEIE - BIERF R BEE 99% 2 ERE -
E—HfE R B2 3

(1) EHHEEZEERTE - BHREIF RO ERS/D?

(2) EARZBLERMNLIE @ —B— 2 ERFEERFRAER K%/ 1?

MOEZ LA AL TARSEE, LHE -
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(109 #HI- KL/ EEBAEARAA

ARMA D > AREAE > A)

#8 Rt R RITENEA FH =

TR

df | =010 | 0=0.05 | 0=0.025 | =001 | 6=0.005
1| 3078 | 6314 | 12706 | 31821 | 63.657
2 | 188 | 2920 | 4303 | 6965 | 9.925
3 1.638 | 2353 | 382 | 4541 | 5841
4 1533 | 2132 | 2776 | 3747 | 4604
5 | 1476 | 2015 | 2571 | 3365 | 4032
6 | 1440 | 1943 | 2447 | 3143 | 3707 |

7 1415 | 1895 | 2365 | 2998 | 3.499
8 1397 | 1860 | 2306 | 2896 | 3355
9 1383 | 15833 | 2262 | 2821 | 3250
10 | 1372 | 1812 | 2228 | 2764 | 3.169

F% 0 BEE/K% 0.05

((lil:ll 1 2 3 4 5 6 7 8 9 10
1 161.4476 1995000 2157073 224.5832 230.1619 233.9860 236.7684 238.8827 240.54;‘3 241.881
2 18.5128 19.0000 19.1643 19.2468  19.2964 19.3295 193532 19.3710 193848 19.3959

3 10.1280 9.5521 9.2766 9.1172 9.0135 8.9406  8.3867 8.8452 8.8123 8.7855

4 7.7086  6.9443 6.5914 6.3882 6.2561 6.1631 6.0942 6.0410 59988 590644

5 6.6079 5.7861? 5.4095 5.1922 5.0503 49503  4.8759 48183 47725 47351
6 5.9874 5.1433” 4.7571 4.5337 4.3874 42839  4.2067 4.1468  4.0990  4.0600
7 5.5914 47374 4.3468 4.1203 3.9715 38660  3.7870 3.7257 3.6767 3.6365
8 53177 44590 4.0662 3.8379 3.6875 3.5806  3.5005 34381 3.3881 3.3472
9 51174 42565 3.8625 3.6331 3.4817 3.3738 3.2927 32296 3.1789  3.1373

10 49646  4.1028 3.7083 3.4780 3.3258 32172 31355 3.0717  3.0204 29782

WOEE L FABLE THHLEL LHEE
2.ARBMBT AN TERKER  RMEMLEEHY -
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B)

1. (10%)j —1)

2. (10%) [V5+xdx

3. (10%) -—[—li]

del x* —8x%+7

4. (10%) [(24x* -8x+1)dx

3 _ 2 _
5. (10%) hm[——xJJ
X X

x—=-1 2

+

3 X
6. (10%) j“r dx

’ \/1+x2\jl+\/l+x2

Ae™™ x>0

7. (10%) Given f(x)= { 0 0
,X <

improper integral : J-x2 f(x)dx.

—c0

1 1 1
9. (10%) 1 RTINS S
( ) 1}_1301{\/;12 ¥ Jr(n+1) B \#n(Zn—l)}
10. (5% * 2=10%)

(a) Find the total differential of f(x,y)=5x" —4xy™' +3y*, and

(b)Estimate f(1.1,—2.1) by using df

#8 : BELS A4 % ERE A FH =

—

and A >0 - please derive the following

8. (10%) Evaluate ”yze"‘dxdy , Where R= {(x,y) [0<x<2-1<y< 1}
R

W OEZ L EFABELE THHEEE ) ALK
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